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1/2R=Y

:l‘/’\"ﬁ?&ﬁif . IAE A#HIF BHSXR 202349R108 (A)

BHAY . BENYT4

5] BmMER ouT| IN GROSS | HDCP | NET %
1T IR E# 47 | 46 93 128.0/65.0
2 AR 1§ 52 | 48 100 | 34.0 66.0
3 I8 #FA 43 | 43 86 120.0/66.0
4 B RX 50 | 50 100 | 34.0 66.0
5 |[hff E 47 | 40 8/ 119.0/68.0
6 U 45 | 50 95 127.068.0
] i RE 50 | 46 96 127.0/69.0
8 Al &k 44 | 46 90 121.069.0
9 W0 & 47 | 48 95 126.0/69.0
10 (I FHEA 47 | 43 90 120.070.0
11 =k ®| 46 | 50 96 126.0 /0.0
12 3rJIl  H1B83 47 | 51 98 128.070.0
13 [ =A) _Fz 52 | 44 96 125.071.0
14 AR 3E 48 | 42 90 119.0/71.0
15 kg B 52 | 50 102 131.0/71.0
16 |[fIeR  F8F 50 | 50 100 129.0/71.0
17 &0 EF 49 | 48 97 126.071.0
18 FFIl  @F 48 | 51 99 128.0/71.0
19 | K+ 51 | 48 99 127.0172.0
20 RHF HIR 49 | 4] 96 124.0/72.0
21 Tl FDH 48 | 46 94 122.072.0
22 HBH E7A 55 | 48 103 130.0/73.0
23 XA K& 52 | 50 102 129.0/73.0
24 ETF Fsh 52 | 42 94 120.0/74.0
25 WE Wia 48 | 45 93 119.074.0
26 /MR AR 51 | 50 101 127.0/74.0
21 HFAE I 48 | 4] 95 121.074.0
28 x = 45 | 50 95 121.0/74.0
29 Lim Bk 45 | 49 94 120.074.0
30 & M 45 | 51 96 121.0/75.0
31 MH R= 56 | 52 108 132.0/76.0
32 [FA ®X 93 | 52 105 129.0/76.0
33 R =F— 52 | 92 104 128.076.0
34 =)l 8l 51 | 53 104 128.0/76.0
3% & BE 47 | 51 98 122.076.0
36 BaIER IEA 54 | 48 102 125.0/71.0
31 ®F EBE= 55 | 51 106 129.0/717.0
38 AH EEF 56 | 55 111 134.0/71.0
39 & EF 53 | 99 108 131.0/717.0
40 BN Z|EA 53 | 57 110 133.0/717.0
411 HF FE 47 | 52 99 122.0/71.0
42 ®E B 58 | 54 112 134.0/178.0
43 sfE B 52 | 49 101 123.0/78.0
44 EH & 99 | Ol 106 128.0/78.0
45 thik |=E 50 | 48 98 120.0/78.0
46 Bl RE 52 | 33 105 127.0/178.0
47 stR E 50 | 59 105 127.0/78.0
48 |BIR FRER 51 | 48 99 120.0/79.0
49 hH & 94 | 55 109 130.0/79.0
50 BF FA 54 | 57 111 132.0/79.0
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:l‘/’\"ﬁ?&ﬁif . IAE A#HIF BHSXR 202349R108 (A)
BHAY . BENYT4

5] BMES ouT| IN GROSS | HDCP | NET %
b1 [B& WA 62 | 49 111 131.0/80.0

52 Kfi Z=Hj 53 | 49 102 122.080.0

03 ®RAK R 50 | 50 100 120.0/80.0

4 BE 5/ | 5] 114 134.080.0

o0 HIJIl FIEE 56 | 48 104 123.081.0

06 K& =EE 59 | 53 108 127.081.0

o/ BH A 5/ | 58 115 134.0 81.0

08 IR HA 52 | 56 108 [27.081.0

09 Wik ERKF 62 | 49 111 129.0/82.0

60 Xig 5 56 | 53 109 127.082.0

61 =+ & 59 | 55 114 131.0/83.0

62 O EF 56 | 50 106 |22.0 84.0

63 FH HR= 59 | 63 118 134.0 84.0

64 Ml F=E 64 | 48 112 127.085.0

65 AEX EFF 58 | 58 116 130.0/86.0

66 IR TS 66 | 60 126 132.0 94.0




